MATLAB

féurt/f Jecture




:3jiall adally A shiadl G dnlual) Cilleadl ) —¢

piall 23ad) G Aawidlly Capually = yhally AELaY) lanS Apluall ililaall o paall (5583

:0) e
>> g= [1 2 3 4; 5 6 7 8]
g:
1 2 3 4
5 6 7 8
>> g-2
ans =
1 0 1 2
3 4 5 6
%Y)d&a
>> 2*g-1
ans =
1 3 5 7
9 11 13 15

:(V)J&A
>> F=5*ones (3, 3)
F:
5 5 5
5 5 5
5 5 5
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» x=[3 4 7;06 9 10;11 13 15];
» y=[7 6 5;8 3 12;9 10 11];
» A=x+y
A =

10 10 12

14 12 22

20 23 26
» B=x-y
B =

-4 -2 2

-2 6 -2

2 3 4
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» A=[1 2 3;4 5 6;7 8 9];
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» r=[2 3 4]
r =

2 3 4
» t=[4;6;8]
t =

4

6

8




d =
58
» f=t*r
f_
8 12 16
12 18 24
16 24 32
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A(mxp), B(p*n)

C=A*B i siadl ;i

C=A*B (mXn)
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» A=[3 4 5;6 7 8];
» B=[3 4 7 8;5 6 11 3;7 7 8 131;
» C=A*B
C =
64 71 105 101

109 122 183 173
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» A=[1 2 3;4 5 6];
» B=[1 2 3;4 5 6];
» A.*B
ans =
1 4 9
16 25 36
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» C=ones (3)
C =
1 1 1
1 1 1
1 1 1
» 5*C
ans =
5 5 5
5 5 5
5 5 5
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4 5;, 6 7 8; 58 9];
)

-0.1667 0.6667 -0.5000
-2.3333 0.3333 1.0000
2.1667 -0.6667 -0.5000

ans =
1.0000 -0.0000 0.0000
0 1.0000 0.0000
0 0 1.0000
» 1inv (A) *A
ans =
1.0000 0 -0.0000
0 1.0000 0
0 0 1.0000
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» A=[3 4 5;6 7 8; 5 8 6];
» B=[3 4 7;5 6 11;7 7 8];
» 1inv (B) *A

ans =
2.0833 1.5833 0.2500
-2.4167 -0.9167 -0.2500
0.9167 0.4167 0.7500
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» >> A./B
ans =
1.0000 1.0000 0.7143
1.2000 1.1667 0.7273
0.7143 1.1429 0.7500
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» A"3
ans =
1039 1408 1392
1792 2431 2400
1648 2240 2207
» A."3
ans =
27 64 125
216 343 512
125 512 216
» A."(-3)
ans =
0.0370 0.0150 0.0080
0.00406 0.0029 0.0020

0.0080 0.0020 0.0046




